Holiday Homework
Class- 12th
Subject- Maths
Chapter 1: Relations and Functions

Section-A

(Multiple Choice Questions)

In each of the Questions from 1 to 30 choose the correct option

Q1.Let A= {l, 2, 3} and consider the relation R = {(1, 1), (2, 2), (3, 3), (1, 2), (2, 3), (1, 3)}.
Then R is

(a) reflexive but not symmetric

(b) reflexive but not transitive

(¢) symmetric and transitive

(d) neither symmetric, nor transitive
Q 2. If R be a relation in the set N givenby R={ (ab):a-b=5 ,a>7}, then

@) (7,2)eR

(b) (15,12)eR

(¢c) (94)eR

(d) (8,2)eR

Q3.Let A = {ab,cd}, then arelation R = { (a,a),(a,b),(a,c),(b,c),(b,d),(c,d),(d,a) } onset A is

(a) reflexive

(b) Symmetric
(c) Transitive
(d) none of these

Q 4.Let us define arelation R in R as aRb ifa>b. Then R is
(a) an equivalence relation

(b) reflexive, transitive but not symmetric

(¢) symmetric, transitive but not reflexive

(d) neither transitive nor reflexive but symmetric

Q 5. Let R be the relation *“is congruent to” on the set of all triangles in a plane is
(a) reflexive

(b) symmetric

(¢) symmetric and reflexive

(d) equivalence

Q 6. Let R be a relation on the set N of natural numbers denoted by x Ry & xis a factorof y .
Then, R is

(a) Reflexive and symmetric

(b) Transitive and symmetric

(c) Equivalence

(d) Reflexive, transitive but not symmetric



Q7.LetS=1{1,2,3,4,5} and let A =S x S. Define the relation R on A as follows:
(a,b) R (¢, d) iff ad = cb. Then, R is

(a) reflexive only

(b) Symmetric only

(c¢) Transitive only

(d) Equivalence relation

Q 8. If R be the relation on Z ( the set of Integers) defined as R= { (a,b):a,be Zand |a—b|is
divisible by 4 }. Then R is

(a) reflexive

(b) Symmetric

(¢) Transitive

(d) All of the above

Q 9. A relation R in the set {1,2,3} is given by R — {(1,2),(2,1),(3,3),(2,2)} . Which of the
following ordered pairs should be added in R to make it Transitive

(a) (1,3)

(b) (2,3)

(© (L,1)

(d) (3,1)

Q 10. Let set A = {a,b,c} and R is the relation in A given by R = {(a,a),(a,b),(a,c),(b,a),(c,c)}.
Which of the following pairs be added in R to make it symmetric .

(a) (ca)

(b) (bb)

(¢) (byc)

(d) None of these

Q 11. A relation R on the set 4 of all triangles is given by R = {(7), T>): T} is similar to 7>}.
Consider three right angle triangles 71 with sides 3, 4, 5, 7> with sides 5, 12, 13 and 73 with sides
6, 8, 10. Which of the following pairs of triangles among 7', 7> and 75 are related?

(@ (T, T2)

(b) (T2,T3)

(&) (Ti;:Ts)

(d) All of these

Q 12. The maximum number of equivalence relations on the set A = {1, 2, 3} are

(a)l
(b) 2
(¢)3
(d)5
Q 13. If a relation R defined on the set A= { 1,23 } isgivenby R={(1,2) },thenR is

(a) Reflexive
(b) Transitive
(¢) Symmetric
(d) None of these



Chapter 2: Inverse Trigonometric Functions
Section-A

(Multiple Choice Questions)

Q1.The value of the expression cot [cos -1 (27—5)] is

A) (B) TC) 32(D) 5=

Q2. The value of the expression 2 sec 1 2 + sin ~1 (%) is

13n

W FB®HO) TOF

Q3.sin (tan ~'x) , |x| < 1is equal to

X 1 \ X x
(A) v1- xz‘B) J1-x2 (C’\/l+ xz\D) i+ x2

: - 13m\ .
Q4. The value of the expressioncos ~1 ( cos T") 1s

13m 13w

nw n
(W) B 50 50) - 1
Q5. The value of the expressiontan ~1 ( tan 7?") is

(A) Z(B) - 5(C) D) -7

Q6. The value of the expressionsin ~1 ( sin 3?") is

(A) Z4B) -X(C) £D) F
Q7.The value of the expressionsin ~1 ( sin 2?") is
2 n n 2n
(A)$(B) 3(O)-3(D) ==
Q8. The value of the expressiontan ~! ( tan ?T") 1S

(A) - 2(B) 3(C) - 5(D) none



Q9.The value of the expressioncos ~1 ( cos 7?") is
(A) Z(B) - 2C) X(D) =

Q10. The value of the expression sin [;—r —sin~1 (— i)] is

(A) 1(B) XC) 0D) 2

Q11. The value of the expression tan ~1vV3 — cot ~1(—3) is
(A) 5(B) = C) 3(D)0

Ql2.tan ~V3 — sec ~1(— 2)is equal to

(A) 5(B) -3 (C) 3D)5

Ql3.tan"1(1) +cos 1! (— %) + sin 1 ( - %) is equal to
(A) 7(B) HC) - D)
Q14.2sin 1! (—12-)+ cos ! (%) is equal to
(A)5(B) 3(C)-3D) 5
Q15. If sin ~! x = y then
(A)0sy<m (B)0<y<m(C)—7<y<z (D) —3<y<;3
Q16.If cos ~! x = y then
(A)OSy<m B)0<y<m (O)-Isys<?Z D) -3<y<%
Q17.If tan ~! x = y then
(AO<y<m B)o<y<m (C)—ES)’S’—;(D) —§<y.<§
1

Q18. The principal value branch of cosec =" x is

®—52) ®) [0, 7] -7} (©I[-33] D) |-3.3] {0}



Chapter 3: Matrices
Section-A

(Multiple Choice Questions)

Q1. If A and B matrices are of same order and A + B =B + A, this law is known as:

A. Distributive law
B Commutative law
C. Associative law
D. Cramer's law
Q2 If determinant of a matrix is equal to zero, then it is said to be:
A. square matrix
B. singular matrix
C. non-singular matrix
D. identical matrix
Q3. If a matrix ‘A’ has ‘m’ number of columns and ‘n’ number of rows then m x n is said to be:
A. transpose of a matrix
B. order of a matrix
C. determinant of a matrix
D. equality of a matrix
Q4. If A and B are 2 matrices such that AB=B and BA=A,then A"2+B"2is:
i) 2AB
i1) 2BA
i) A+B
iv) AB
Q5. If A and B are symmetric matrices of the same order, then (AB'-BA”) is a
a. Skew symmetric matrix
b. Symmetric matrix
¢. Both
d. None of the above
Q6. If A is a 3x3 matrix, |A[#0 and |3A|=3k|A|, Then find the value of k.
A3
B.9
.27
D. none of these



Q7. The solutions of system of linear equationsx +y +z=6,y+3z=11,x -2y +z=0.

Are:
X=1,y=2,7z=3
X=1,y=2,z=-3
X=2, y=3, z=1
X=3,7z=2, y=1

e e o

1 0
Q8. If A= 21 7
a.7
B.-7
c.6

d.-6

and A2=8A+KI, Then find the value of k

S 1 '_1 e a 1 2= 2 2 .
Q9. IfA—[2 _1], B—[b _1] and (A+B) “=A-+B-, then what is the value of a and b.

A.a=1,b=4
B. a=2, b=3
C.a=4,b=3
D. a=3, b=7
x—1

I 3
Q10. IfA_[Zx +3 x+2
A.4

B.3
C.-4
D.-3
Q11.If A= ; i] A2KA-5I= O, Then K=2

A5
B.3
C.7
D. none of these

is a symmetric matrix, then x=?

Q12. For any square matrix A, AA' is a:

(a) Unit matrix (b) symmetric matrix

(c¢) skew-symmetric matrix (d) diagonal matrix
Q13. If a matrix A is both symmetric and skew-symmetric, then
(A) A is a diagonal matrix

(b) A is a zero matrix



Chapter 4: Determinants
Section-A

(Multiple Choice Questions)

. Determinant is:
Real number associated to a square matrix.

a
b. Complex matrix associated to a square matrix.

o

Real or complex number associated to a square matrix.

2

Real or complex number associated to a matrix.

. Value of determinant of A = [1 z 1S
8 2
b. -2
c. 3
d

. None of these.

. Determinant of matrix P = [g 2 ‘;] 1S

a. 2
b. 3
c. 4

d. None of these.

0 . 0
 Val £ cos15” sin15%]. :
aueo sin15° cos15°

a. |

b. Va

c. V3/2

d. None of these

52 53 54
5. The value of |53 5% 5 |is:
54 55 56
a. 5°
b. 0
c 513

e
W
=]



10.

1! 2! 3!
Value of |2! 3! 4! is:
3! 4! 5!
a. 2
b. 6
c. 24
d. 120
1-x 2 3
Iff 0 x 0] =0, then its roots are :
0 0 x
a. 1 only
b. 0,1
c. Oonly
d -10&1

Which of the following is correct

a. Determinant is a square matrix.

b. Determinant is a number associated to a matrix.

c. Determinant is a number associated to a square matrix.

d. None of these.

Value of a+i{) C+i,d 1S:
—c+id a-ib

a. a2+b’-c?-d2
b. a?-b2+c?-d?
c. a?+b*+c?+d?

d. None of these.

1 1 1 1 bc a
IfAy7=|la b «c¢| andA2 =|1 ca bl then
a? b%? 2 1 ab c
a. A +A=0
b. A +2A;=0

A =A2
None of these

e o



Chapter 5:Continuity and Differentiability
Section-A (Multiple Choice Questions)

3| x+a x<1
Ul Le f(x)={ax2+1 x>1"
a) a=0 b) a=1 ¢) allaeR d) none of these

Q2 If f(x)=x’sin % , where x # 0, then value of the function fat x = 0, so that the function is

then f(x) is continuous at x=1 for

continuous at x = 0 is
a) 0 b) 1 c) -1 d) none of these
Q3 The function f(x) = tan x is discontinuous on the set
a) {nm:n€Z} b){2nm:neZ)} c){(2n+1)§:nEZ}d){"2—":nEZ}
Q4 The function f(x) =[x ], where [x] denotes the greatest integer function is continuous at
a) 4 b)-2 ¢)l d)1.5
Q.5 The function el is
a) Continuous everywhere but not differential at x = 0.
b) Continuous and differentiable everywhere
¢) Not continuous at x = 0.
d) None of these
Q.6 The set of points, where the function f given by f(x) = |x — 1| is differentiable is

a) R b)R - {1} ¢c) (0,o) d) none of these
A function f(x) is said to be continuous for X€ R , if
Q.7 a) f(x) is continuous at x = 0.

b) f(x)is differentiable at x = 0.
¢) f(x) is continuous at two points.
d) f(x)is differentiable for x € R

8 N TR .
Q If y sinx +y , then 2o 18 equal to

cosx cos x sinx sinx
a)Zy-l b)l-Zy C)I-Zy d)Zy-l
Q9 lfo1+y+y\/1+x=O,then%
1 -1 x+1
a) x+1 b)x+l ¢) (1+ x)2 d)T
Q.10 If xsin(a+ y) =siny then % is equal to
sin? (a+y) sina sin(a+y) sina
a) sina b) slnz(a+y) C) sina d) sin(a+y)
QIl  ff ax?+ 2hxy + by? =1 then% equals
hx+by ax+by ax+hy ax+hy
a) ax+by b) hx+by C) hx+byd) B hx+by
Q.12 Differential coefficient of sec (tan™!x ) w.rt. x is
x x 2 1
a) vy b)1+x2 c)xV1+ x d)&z_u
: . _1,Vx-1 —1,Vx+1 dy .
Q13 If y=sin 1(\/;\‘1) + sec l(éjl), x > 0 then d—ilsequalto
a) 1 b) 0 c)Z d) none of these
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